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MHUANMIIBUTH (LINEAR PROGRAM)
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Minimum Cost Problem

Productivity (tons/day)

Mine Tin Copper Zinc
X, A 6 2 4
X, B 2 2 12
days Condition of Production (order)
week .
Tin 12 tons/week
Copper 8 tons/week
Zinc 24 tons/week
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6x +2x, =12 Target __"\_1_ = \ X
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2x, +2x, 28 Cost of mine A 40,000 11N/3u P,(0. 6}

S .
ax, +12x, > 24 Cost of mine B 32,000 1111/5u @
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Minimum Cost Equation
Min Cost = 40,000 x, + 32,000 x, @ 2]
= min RE.0)
o - e
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P, P, P, P, Maximim Profit Problem

X, 6 3 1 0 Raw Form Quality
X, 0 1 3 6 Type Mat(hrs) Prep(hrs)  Test(hrs)
Cost min 240,000 152,000 @ 192,000 X 1 6 3 4

X 2 6 6 2
Minimum Cost =40,000 x 1 + 32,000 x 3

Pcs Condition

= 136,000 1/dant

week Raw Mat 420 hrs/week

Mine A (x, = 1 days/week)
Form Prep 300 hrs/week
Mine B (x, = 3 days/week) Quality 240 hrs/week
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Target
Profit of Type 1 300 ‘UWI/%‘L!
Profit of Type 2 200 ‘UWI/%‘L!
Target Equation

Profit=300x, + 200x, = max

P, P, P, P,

X, 60 50 40 0

X, 0 20 30 50
Profit 18,000 19,000 18,000 10,000

Maximum Profit =300 x 50 +200 x 2

=19,000 vinAeda
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